Bl &

Fixed Wheel
Config.

< WHOLE ORI PART, OR USED FOR ARY DESIGN OR MANUFACTURE Sheet 1/2
Detachable Wheel ~  (=omesor
Plan No.
Config. D200N T30 009000 ]
Scale: 7:25 Drafted Verified Confirmed
Date 16/01/2025 16/01/2025 16/01/2025
Initials SD SD SD




Material

No. Plan Article Qty
1 EC00247 3991715 1
EC00248 3991716 1
2 P00095320 2093154 4
3 P00095322 2093254 2
4** X001308 G051700 2
5** X001309 G051800 2
6 X002134 X002134 2
7 X002139 1992426 2
8 X002140 1992427 2
9 X002141 1992435 2
10 X002165 1488300 4
11 X002265 1500054 2
12* X002437 1992699 2
13* X003662 1998693 2
14 X005274 17937 2
15 X005276 1793900 4
16 X005305 1910032 (L) 1
X005306 1910033 (R) 1
17 Y016713 1735454 (L) 1
Y016715 1735554 (R) 1
18 Y020193 1794054 2
19 M6x16 DIN912 1001492 2
20 M6 DIN125 1001564 8
21 M6 DIN985 1001680 2
22 M6 DIN7349 1003321 2
23 M6 DIN127 1004414 2
24 M6x35 1ISO7380 1006057 2
25 M6x50 1ISO7380 1006997 4
26 M6 DIN986 1008492 4
27** M12x100 DIN931 1009034 2
28 X005720 1905243 2
29* M16 1906194 2
30* M16 DIN17222 1911653 2
31 XC00414 3992836 2

Quantities for left + right side

* Quick release wheel config.
** Fixed wheel config.

/

4

N

QN

9

l Detail View A (1:2)

NOTICE: THE INFORMATION CONTAINED ON THIS DRAWING IS

OLE Of N PART, O USED O ALY DESIN O MANEAGT U Sheet 2/2 -
EXCEPT WHEN SUCH USER POSSESSES DIRECT WRITTEN AUTHORISATION
FROM VERMEIREN GROUP
D200N T30 e
E00096803/A.1
Scale: 1:2 Drafted Verified Confirmed
Date 16/01/2025 16/01/2025 16/01/2025
Initials SD SD SD




